Diagramme p — v du fréon R-22

p (bar)
Liq / Liq+Gaz\\ Gaz
L= 39°C "\
10" ]
“ Tf = —6,6 OC
100 T l




p (bar)

10* 1

Diagramme p — h du fréon R-22

Liq

100 i

s
’

o Lig+Gaz |

I

isotherme 39°C | /
!
1

J
/
isotherme —6,6 ° C/

1

= (k) /ke)

100

200

300



Diagramme p — h du fréon R-22

p (bar)
Ve . : \\
Liq // Lig+Gaz | GQGaz
4 !
fi isotherme 39°C |
11 /
10 ,
/
/
/
,/ isotherme —6,6 °C

/
, D
/

DA 154,1

I = CB_DA — 187,7—154,1

10° L S ‘ /%“ b (kJ/k
100 200 300 400 so: (eJ/ke)



p (bar)

Diagramme p — v du fréon R-22

/ ~
~

/ Liq+Gaz\ N

Gaz

!

| T, =39°C

\

p (bar)

10° L

Diagramme p — h du fréon R-22

Liq . o Lig+Gaz |
|

C’ isotherme 39°C |
/ 4 !
/ !
1

g isotherme —6,6 °C/
4 D A
S ‘ = h(kJ/k
200 300 400 500 (IJ/ke)



